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QUESTION 1

How is drill-back enabled to Supplemental Data Manager (SDM) from the Supplemental Data member within the Multi-
source dimension?

A. Drill-back to SDM is not an available feature.

B. Drill-back is available from any Multi-source dimension member by default, know the source of the origination data
load.

C. By selecting Track Multi-source Data Input option for Supplemental Data during the application creation process.
D. By selecting Track Multi-source Data Input option for Other Data during the application creation process.

Correct Answer: B

QUESTION 2

For data load rules in Data Management, which two statements are FALSE?

A. If specified, the import format will be used; if not, then the location\\'s format will be used.
B. A job must first run to import the data file before the user can run the data load rule.

C. End users can upload a file when running a data load rule.

D. Data load rules cannot be shared across locations.

E. Valid load types are Merge and Replace.

Correct Answer: BE

QUESTION 3

Which two prebuilt calculations run on the Movement dimension to determine CTA by account?

A. Prior Average Rate minus Current Average Rate multiplied by FCCS_Mvmts_Subtotal

B. Prior Ending Rate minus Current Ending Rate divided by FCCS_Mvmts_Subtotal

C. FCCS_OpeningBalance multiplied by Ending Rate minus FCCS_OpeningBalance carry forward

D. FCCS_Mvmts_Subtotal multiplied by ending Rate minus FCCS_Mvmts_Subtotal multiplied by Average Rate

Correct Answer: CD

QUESTION 4
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When defining a batch in Data Management, which statement is True?

A. Each data load rule must specify the period or the batch will default to the POV period.
B. Batches can import from source or export to target, but not both.

C. Batches can execute data loads for multiple locations.

D. A batch replaces the need for data load rules.

E. A batch can load to multiple plan types.

Correct Answer: C

QUESTION 5

Three child entities — P, Q, and R — of a mid-level parent entity — AceCo — have account receivables in the
amounts of 10, 20, and 30, respectively.

Which statement contains conditions for all three entities that would cause the account receivable balance
amount at AceCo not to be 60?

A. P has the same currency as AceCo, Q is 100% owned, and R has 10 of the 30 as an intercompany receivable
balance with another division that is not a descendant of AceCo.

B. P has the same currency as AceCo, Q is 90% owned, and R has 10 of the 30 as an intercompany receivable balance
with another division that is not a descendant of AceCo.

C. P has a different currency than AceCo, Q is 40% owned, and R has 10 of the 30 as an intercompany receivable
balance with Q.

D. P has a different currency than AceCo, Q is 100% owned, and R has 10 of the 30 as an intercompany receivable
balance with Q.

Correct Answer: B
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